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Homework p.11

Sep 8­1:45 PM
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Absolute ValuesSec 1.2
In some cases, the value of number is 
simply its distance from a single point.

ie. The distance a golf ball is from the 
hole on a golf green.  The direction from 
the hole doesn't matter.

Direction can be expressed in many ways, one of 
which is the use of a negative sign.  An absolute 
value describes the MAGNITUDE of the number 
only.

ie.  The temperature changed from 10 
degrees to ­30 degrees.  We would say the 
temperature dropped 40 degrees (­40), but the 
absolute value of the change in temperature is 
only "40" degrees.

Aug 29­11:40 AM

Absolute Values are expressed using the 
following notation:

­ two parallel lines around the number, not brackets
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10 2 3 4 5 6 7 8 9 10­1­2­3­4­5­6­7­8­9­10

On a number line, the distance from zero is the 
magnitude of the line. We call it absolute value.

8

‑6

Please note the change here.

Sep 8­2:26 PM

Remember that the answer inside absolute values 
always "outputs" as positive.
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Examples:

1/ 2/

3/

Sep 8­2:39 PM

10 2 3 4 5 6 7 8 9 10­1­2­3­4­5­6­7­8­9­10

Draw the following inequality on a number line.

Is there another way to write this, if we are 
only interested in the magnitude of "x"?

Recall:  Closed circle ≤ or ≥
Open circle     or   ∨

∨

Remember, we don't care about direction, only magnitude.
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What values would satisfy the following:
(two case method)

Sep 8­2:48 PM

What about graphing an absolute value function?

X Y

x

y

1 2 3 4 5 6­1­2­3­4­5­6

1
2
3
4
5

­1
­2
­3
­4
­5

This is the parent (base) curve for the absolute 
function.
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Now that you know the parent function then 
every other graph is just a transformation.

Ex: Translation 2 units left

Vertical stretch by 3
Horizontal stretch by 2

Sep 8­2:55 PM

Homework

p16 #2, 3ab, 4ab, 5ab, 6, 8(ignore the 
reference to #7), 10
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